
Administrator
打字機
WRITING DESK

user
印章

PowerUser
打字機文字
Page 1 of 8

PowerUser
打字機文字
   ASSEMBLY   INSTRUCTION




TOP PANEL 1PC

A B

BOTTOM PANEL 1PC

ASSEMBLY TIME PER UNIT: 50  MINUTES

SIDE PANEL 2PCS

C D

LEFT PANEL 1PC

RIGHT FRAME 1PC

E

DRAWER FRONT PANEL 1PC

G H

DRAWER LEFT PANEL 1PC

DRAWER RIGHT PANEL 1PC

I J

DRAWER
BOTTOM PANEL

1PC

BACK PANEL 1PC

F

PowerUser
打字機文字
ASSEMBLY INSTRUCTION

PowerUser
打字機文字
Page 2 of 8



DRAWER BACK PANEL 1PC

K L

DRAWER RIGHT
KEYBOARD RAIL

1PC

LEFT RAIL 1PC

M N

RIGHT RAIL 1PC

DRAWER LEFT
KEYBOARD RAIL

1PC

O P

FRAME 1PC

CAM BOLT (38mm)

CAM LOCK ( 15mm)

10PCS

10PCS

LARGE WOOD DOWEL (8x30mm) 11PCS

SMALL WOOD DOWEL  (6x30mm)

LONG BOLT (1/4"x22mm)

SHORT BOLT (1/4"x12mm)

LONG SCREW ( 8x38mm)

SHORT SCREW ( 6x38mm)

GLUE

ALLEN WRENCH (4mm)

2PCS

6PCS

16PCS

19PCS

12PCS

1PC

1PC

LEG 4PCS

Q

PowerUser
打字機文字
ASSEMBLY INSTRUCTION

PowerUser
打字機文字
Page 3 of 8



24

G

H

I

2

41

1

J

K

7

7

STEP 1

STEP 2

9

4

PowerUser
打字機文字
ASSEMBLY INSTRUCTION

PowerUser
打字機文字
Page 4 of 8



F

A

3

3

O

L

8

8

8

8
8

8

STEP 3

STEP 4

9

3

PowerUser
打字機文字
ASSEMBLY INSTRUCTION

PowerUser
打字機文字
Page 5 of 8



D

E

M

N

8

8

8

C

C

D

E

2

2
2

2

2

2

2

2

3

3

3

3

1

1

1

1

1

1

1

1

STEP 5

STEP 6

9

3

PowerUser
打字機文字
ASSEMBLY INSTRUCTION

PowerUser
打字機文字
Page 6 of 8



P

B

5

5

5

5

5

5

STEP 7

STEP 8

B

7

7

7

7

7

7

7

7 7

7

7

7

7

7
7

PowerUser
打字機文字
ASSEMBLY INSTRUCTION

PowerUser
打字機文字
Page 7 of 8



Q

Q

Q

Q

6

6

6

6

6

STEP 9

FINISH

PowerUser
打字機文字
ASSEMBLY INSTRUCTION

PowerUser
打字機文字
Page 8 of 8




